SHHl4F4H18

B RIR 5 B B ST IR SRR
[EFHEETE (BREM) ]

#E) 158 | | S F5Ph

HMOBIZBE®RESE, ERMSBBERBUNDBDIEN Z2STIBENH DT,
A >0O— RZEITOTEARITEANCSITD 1 RFAICRDIEDE U,
BESECREADST [E=8 \DRMITE] ZIThRAWLT L,



. ¥BA
%%% PR i B 5 e B SR A 2
AT T RIEAFKF TR 2 T H 2% 1 05 GRIAIEBAT R O OF
)
2. EBNE
1) FEEAEH SR 44 2H 7) LI NS
2) HHEHT4 TENWRAT) ISR sk PR 8) #i X BORPRT « KA - PIETIfi
3) ¥BEE 22864075050001 9) Il - B TENAR
4) XSy HARE (Ml L 2&1) OnEs 10)mﬁ$ﬂ af 34FE12H
5) ZHEEK 11) HBLH—EH 0%
6) JEITHIM 365 H [ H &0 44 44 1H 1 2) HALEHEHA S 44 2H
(447)  4f1 54 3H31H 1 3) HHhEHFH S 44 2H
(% mZEE) £ £ A A 14) niiEAEBR M
15) R M
BGE EBNE
AREHT, TS TR BTSN Té%%’%#é%ﬂﬁmﬁﬁ&w f@%%ﬁﬁiﬁ?@&%@f%é
TR BT D T - R SR OBEBMME1TY 2 &l kY, 1. HEMRERIRICBI 5 T 2 o B i
MRE AR L, 3% - LFEOMIE/RHE & RO K Ok O HERekER 4 2. Kk %#émﬁ%”éﬂwwm g
MHZLHHMETHIEBTH D, 3. %*%Eﬁ BT D IHHROUNEE
3. TERHA
1) THEHE 2) H 3) Bo#Hy 4) HIEA

VT T R



ARE

KB | PR B R SR e RS ¥ EHEE TS S
H A [EEEINLS
HH - TAE - FRR - 05 Bt HLAL pis s A X BRI BRI fifi 2L
[EEZINES
= 1 35, 497, 800
B BB SR A
20 1 35, 497, 800
B SR
20 1 35, 497, 800
B SR H 1%
7 A 12 2,958, 150 35, 497, 800
[ERPSES ¢
= 1 1,805, 872
R
= 1 1,805, 872
FE A
= 1 1,076, 950
FH M 2] 15
A 1 1,076, 950

Eszi@y T R



At YRR E

EBL | PRI DL R RS E T IR EGE
H H [EREZ Y
HH - TR - FHI - 5] g BANL & B o] B2t SEEHE B
JiE- k¢
= 1 728, 922
ik Az N 2 5
= 1 728, 922
EEEM (ZOMEMmER<)
= 1 37, 303, 672
Z OFAT
= 1 11, 831, 416
— RS EL
= 1 26, 454, 912
SEVS A
= 1 75, 590, 000
THE LA %0
= 1 7, 559, 000
B S
= 1 83, 149, 000
-2 - ES I SR GBI 3 LW 4 )



= i HAAh 3 FH A A 2022. 02
= R SRENEAER | 2022, 02
H = T AR 1. 000-0000-0000-0000-0000-1-0 0
1 & ER TN
HH L - K BN & Hffh &%H EiiE
XY a Y — 2k H 35
A 12 50, 226 602, 712
Ry avE ) —2k (Rah) 2 35
= 1 474, 238
1, 076, 950
N = i Al 4F A 2022. 02
ﬁ( M :R ScEM RN 2022, 02
H = FEEFEAZE | 1. 000-0000-0000-0000-0000-1-0 0
2 = ik Azt
HH L - K BN & Hffh &%H EiiE
et A A
= 1 728, 922
728, 922

Eszi@y T R



AL 4 A

2022. 02

A ==
2 /k P ‘l ER =B SHEEERER | 2022.02
= T AR 1. 000-0000-0000-0000-0000-1-0 0
XY a ) — 2ok (RE )
LT - Bk A HAL Fgy AKR T 2
XY a ) — 2ok (RE )
= 474, 238
474, 238
N = Al 4F A 2022. 02
2 /j 5? P ‘l ER = SHEEERER | 2022.02
= T AR 1. 000-0000-0000-0000-0000-1-0 0
ik Azt
LT - Bk A HAL Fgy AKR T 2
ik Azt
728,922
728,922

Eszi@y T R



N N 2 Al 4F A 2022. 02
1 /j 5( @ ﬂﬁ 2% A FHAE A 2022. 02
T AR 1. 000-0000-0000-0000-0000-1-0 0
Bl B S R e .
HAAL 7 A S HiAlh
1 2,958, 150
LT - Bk A HAL Y HAT 4KA T 2
Bl B S R H 2 =
A 1 2,958, 150 2,958, 150

2, 958, 150

2,958,150 M,/ » A

Eszi@y T R



N N 2 Al 4F A 2022. 02
B R S ARpt 2 %k EE; 1&5 %%% SRR | 2022, 02
555 AL 1. 000-0000-0000-0000-0000-1-0 0

H 2 5 Bl B S R . . .
HAAL 7 A S HiAlh
1 2,958, 150
THH LT - Bk A HAL Y HAT 4KA e
[EE-YN L
= 1 2,958, 150
R (C)
19. 5H/AX4 A
A 78 32, 800 2, 558, 400
R A 4 4R H 4 =
3 0OFFfIX 4 A
=i 120 3,075 369, 000
EREINE 7Y H 5 &
HER 10 3,075 30, 750
2,958, 150
HAT

2,958,150 |, » H

- [ Asilms S



N N 2 Al 4F A 2022. 02
o B 9 /f’x: /fﬂﬁ 2% SEERER | 2022, 02
T AR 1. 000-0000-0000-0000-0000-1-0 0
B35 NV Y — AR N B B
HAAL 7 A S HiAlh
1 50, 226
THH LT - Bk A HAL Y HAT AKR T 2
NRyay (CADY 7 N&te)
2 N5
= 25,113 50, 226
50, 226
B
50,226 |MH,/» A
_ 9 - ES I SR GBI 3 LW 4 )




N N 2 Al 4F A 2022. 02
B R S ARpt 3 %k EE; 1&5 %%% SRR | 2022, 02
555 AL 1. 000-0000-0000-0000-0000-1-0 0

H 4 = B S A 4 % N - N
HAAL R S HAT
1 3, 075
HH LT - Bk A HAL Y HAT AKR T 2
[EE-YN L
= 1 3,075
R (C)
1 H+ 1EEE
A 1 35, 875 35, 875
il (C)
1 B
A -1 32, 800 -32, 800
3,075
B

3,075 ./ IRg ]

. [ Asilms S



N N 2 Al 4F A 2022. 02
B R S ARpt 3 %k EE; 1&5 %%% SRR | 2022, 02
555 AL 1. 000-0000-0000-0000-0000-1-0 0

H 5 & BRI E Y " w -
HAAL R S HAT
1 3, 075
HH LT - Bk A HAL Y HAT AKR T 2
[EE-YN L
= 1 3,075
R (C)
1 H+ 1EEE
A 1 35, 875 35, 875
il (C)
1 B
A -1 32, 800 -32, 800
3,075
B

3,075 ./ IRg ]

. [ Asilms S



